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pRoll No…………… 
M.A. Economics (Previous) 

Examination 2012 
MAEC – 04 

Quantitative Method 
Ikfjek.kkRed fof/k;k¡ 

 
Time: 3 Hours                                                                                 Max. Marks: 60 
le;% 3 ?kaVs                                                 iw.kkZad% 60 
 
Note: The question paper is divided into three sections A, B and C. 
uksV% ;g iz’ku&i= d] [k ,oa x rhu [k.Mksa esa foHkä gSA 

 
Section A / [k.M & d  

Long Answer’s Question 
nh?kZ mŸkjh; iz’u 

 
Note: Answer any two questions. Each question carries 15 marks. Distribution 
of marks is given at the end of the question.         
uksV% fdUgh nks iz’uksa ds mŸkj nhft,A izR;sd iz’u 15 vadksa dk gSA vadksa dk forj.k fn;s 
x;s iz’u ds vUr esa vafdr fd;k x;k gSA    2x15=30 
                                               

(1) Define ‘Function’ and also describe briefly important functions 
used in   economic theories.   
(5, 10)                                                                           
*Qyu* dks ifjHkkf’kr dhft, vkSj vkfFkZd fl)kUrksa esa iz;qä egŸoiw.kZ Qyuksa dk 
laf{kIr o.kZu Hkh dhft,A   
(5, 10)                                                        
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(2) Describe briefly the ‘static’ form of Input-Output table and also 
explain its limitations.                                                                                    
(10, 5) 
vkxr&fuxZr lkj.kh ds LFkSfrd Lo:Ik dk laf{kIr o.kZu dhft, rFkk bldh 
lhekvksa dks Hkh Li’V dhft,A                                                        
(10, 5) 

(3) Find Karl Pearson’s Coefficient of Skewness with the help of 
following data series:                                                                                             
(15) 

Marks obtained 0-10 10-20 20-30 30-40 40-50 
No. of Students 8 14 23 11 4 

 
 fuEufyf[kr lead Js.kh dh lgk;rk ls dkyZ fi;lZu dk fo’kerk xq.kkad Kkr 
dhft,A                                                                                                                         
(15) 

izkIrkad 0&10 10&20 20&30 30&40 40&50 
fo|kfFkZ;ksa dh la[;k 8 14 23 11 4 

 
(4) Find Fisher’s Ideal Index Number for the year 2012 assuming 

year 2000 as the base with the help of following data. Also 
examine it on the basis of ‘time’ and ‘factor’ reversal tests.                                  
(10, 5) 
 

Commodity 
Year 2000 Year 2012 

Price Quantity Price Quantity 
A 10 2 20 4 
B 8 4 24 10 
C 20 3 30 6 
D 12 8 24 7 
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fuEufyf[kr leadksa dh lgk;rk ls o’kZ 2000 dks vk/kkj ekurs gq, o’kZ 2012 ds fy, 
fQ”kj dk vkn”kZ lwpdkad Kkr dhft,A le; o rŸo mRØkE;rk ijh{k.kksa ds vk/kkj 
ij bldh tk¡p Hkh dhft,A                                                                    
(10, 5) 

oLrq 
Ok’kZ 2000 Ok’kZ 2012 

dher Ekk=k dher Ekk=k 
d 10 2 20 4 
[k 8 4 24 10 
x 20 3 30 6 
?k 12 8 24 7 

 
 

Section B / [k.M & [k  
Short Answer’s Question 

y/kq mŸkjh; iz’u 
 

Note: Answer any four questions. Each question carries 5 marks.                            
uksV% fdUgh pkj iz’uksa ds mŸkj nhft,A izR;sd iz’u 5 vadksa dk gSA  

4x5=20                   
(1) Find the first order differential coefficient i.e. 

��

��
 from the 

following function: 

� =
�����

���
  

fuEufyf[kr Qyu ls izFke Øe dk vody xq.kkad vFkkZr~ 
��

��
 Kkr dhft,& 

� =
�����

���
  

 
(2) Find the third quartile from the following distribution- 
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Marks obtained 0-10 10-20 20-30 30-40 40-50 50-60 
No. of Students 3 7 16 13 9 2 

    
 
fuEufyf[kr forj.k ls r`rh; prqFkZd Kkr dhft,& 
 

izkIrkad 0&10 10&20 20&30 30&40 40&50 50&60 
fo|kfFkZ;ksa dh la[;k 3 7 16 13 9 2 

 
 

(3) If A= � 5 3

12 8
� and B=�12 4

2 5
� then find BA. 

 

;fn A=� 5 3

12 8
�  o  B=�12 4

2 5
� ] BA Kkr dhft,A 

(4) Find the value of the determinant:	�3 9 6

1 4 8

7 5 2

�  
Lkkjf.kd :	�3 9 6

1 4 8

7 5 2

� dk eku Kkr dhft,A 

 
(5) Explain briefly the algebraic properties of Arithmetic Mean. 

lekUrj ek/; dh chtxf.krh; fo”ks’krkvksa dk laf{kIr o.kZu dhft,A 
 

(6) Explain briefly the procedure of Test of Significance?  
lkFkZdrk ijh{k.k dh fof/k dk laf{kIr o.kZu dhft,A 
 

(7) Mention the published sources of data related with national 
income, price level and money supply in India. 
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Hkkjr esa jk’Vªh; vk;] dher Lrj o eqnzk iwfrZ ds leadksa ds izdkf”kr lzksrksa dks 
crkb,A 
  

(8) Find the coefficient of correlation between �  and 	�  with the 
help of following equations: 
4� − 5� + 33 = 0  
20� − 9� − 107 = 0  
fuEufyf[kr lehdj.kksa dh lgk;rk ls �  o �  ds e/; lglaca/k xq.kkad Kkr 
dhft,& 
4� − 5� + 33 = 0  
20� − 9� − 107 = 0  

 
 

Section C / [k.M & x  
Objective Type Question (Compulsory) 

oLrqfu’B iz’u ¼vfuok;Z½ 
 

Note: Answer all questions. Each question carries 1 mark.                      
uksV% lHkh iz’uksa ds mŸkj nhft,A izR;sd iz’u 1 vad dk gSA                         

10x1=10 
 
Write True/False against the following. 
fuEufyf[kr ds lkeus lR;@vlR; fyf[k,A 
 

(1)  Differential calculus is used to measure marginal concepts in 
economics.                                                                                                  
True/False 
*vodyu* dk iz;ksx vFkZ”kkL= esa lhekUr /kkj.kkvksa dks ekius esa fd;k tkrk gSA  
                                                                   
lR;@vlR;  
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(2) ‘De Jure System’ is used in population census.                          
True/False 
*fof/k fl) i)fr* dk iz;ksx tux.kuk esa fd;k tkrk gSA                   
lR;@vlR; 
 

(3) ‘Integration’ is an inverse process of ‘Differentiation’.              
True/False                                                                                                     
*lekdyu* *vodyu* dh foykse izfØ;k gSA                              
lR;@vlR; 
 

(4) Arithmetic Mean and Median are not equal in case of a 
symmetrical frequency distribution.                                                                 
True/False 
,d lefer vkof̀Ÿk caVu esa lekUrj ek/; vkSj ekf/;dk leku ugha gksrs gSaA   
lR;@vlR; 
 

(5) The value of correlation coefficient may be more than 1.           
True/False 
lglaca/k xq.kkad dk eku 1 ls vf/kd gks ldrk gSA                        
lR;@vlR; 

 
Note: Choose the correct alternative. 
uksV% lgh fodYi pqfu,A 
 

(6) If Mean Deviation is 8 in a moderately asymmetrical 
distribution, Standard Deviation will be:  
(a)10   (b)15   (c)8   (d) None of these 
,d lk/kkj.k :Ik ls vlefer forj.k esa ;fn ek/; fopyu 8 gS] izeki fopyu 
gksxk%  
¼v½10 ¼c½15 ¼l½8 ¼n½buesa ls dksbZ ugha 
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(7) Which of the following component is found in a time series?  
(a)Secular trend (b)Short-term regular fluctuations (c)Irregular 
fluctuations (d)All of these 
,d dky&Js.kh esa fuEufyf[kr esa ls dkSu&lk la?kVd ik;k tkrk gS\ 
¼v½fpj izof̀Ÿk ¼c½vYidkfyd fu;fer mPpkopu ¼l½vfu;fer mPpkopu 
¼n½buesa ls lHkh 
 

(8) In which year, the National Sample Survey Organisation was 
established? 
(a)1950  (b)1970  (c)1990 (d)2000 
jk’Vªh; U;kn”kZ losZ{k.k laxBu fdl o’kZ esa LFkkfir fd;k x;k Fkk\ 
¼v½1950 ¼c½1970 ¼l½1990 ¼n½2000 
 

(9)  The value of determinant A= �2 5 2

6 3 6

8 4 8

� is:  

(a)0  (b)5  (c)10  (d)None of these 

Lkkjf.kd A=  �2 5 2

6 3 6

8 4 8

� dk eku gS%  

¼v½0 ¼c½5 ¼l½10 ¼n½ buesa ls dksbZ ugha 
 

(10) Which of the following is used to find differential 
coefficient? 
(a)First Principle  (b)Cramer’s Law  (c)Sarrus’s Rule  (d)None 
of these 
vody xq.kkad Kkr djus ds fy, fuEufyf[kr esa ls dkSu&lk iz;ksx fd;k tkrk 
gS\ 
¼v½izFke fl)kUr ¼c½Øsej dk fu;e ¼l½lkjl dk fu;e ¼n½ buesa ls dksbZ ugha 
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